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10 (7-1-7) 6/1 6/7
A
C FTTES
T 1 4 2 1 Fkkxx 3 3 5 (-2 2
2 1 EXEEEa 4 1 EXEEEa 6 8 2 6 1
1 2 1 4 KkkKhk KkkKhk 0 2 6 -4 3
B *hArK
Kk kkk 6 1 0 5 Fkkkk 3 6 6 0 2
1 6 FTTES 0 11 SIS 0 1 17 1-16] 3
5 0 | 11 0 HARHAN HHRHAN 6 |16 0 |16 ] 1
B
B B FTTE S
B R 0 10 ] 2 0 R 3 2]10[-8]2
10 0 HHHAN 3 0 HHHAN 6 |13 0 |13 ] 1
B 0 2 0 3 *hkxK *hkxK 0 0 5 -5 3
A A A *hArK
*kkkk 4 2 1 1 *kkkk 4 5 3 2 2
2 4 Fkx KK 0 4 Fhk KK 0 2 8 -6 3
1 1 4 0 *khkkkk *khkkkk 4 5 1 4 1
A
A B B FTTE S
*kkkk 2 0 2 0 *kkkk 6 4 0 4 1
B 0 2 Fk kA K 0 4 *hkxK 0 0 6 -6 3
0 2 4 0 *hArK *hAxK 3 4 2 2 2
A
A ey FkxKhK 2 3 0 3 3 2 6 5 2 3 2
Fk g gk Kk ok k A 6 3 0 5 3 0 6 11 0 11 1
0 3 2 0 3 6 leiaialel leieialel 0 0 8 ] -8| 4
2 3 3 0 3 5 kel leieialel 0 2 8 ] -6 3
B
B A FTTE S
ETTEES 0 0 2 1 RS 4 2 1 1 1
A 0 0 Kk A xK 1 2 *hkxK 1 1 2 1 3
1 2 2 1 *hArK *hAxK 3 3 3 0 2
B C A
KAk KK *dkdk 0 4 1 2 0 1 6 -5 4
FTE Py 1 3 8 2 3 9 5 4 2
4 0 3 1 *kkkk *kkkk 6 7 1 6 1
A 2 1 2 ) *hAxK *hkxK 3 4 9 -5 3
1
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10 (7-1-7) 6/1 6/7
1
, ABC
A
1 C A *hAhK
1 C kil 5 0 6 leieialel 0 1 {11]-10] 3
2 A 5 1 *kkkhk O 2 *kkkhk 3 5 3 2 2
3 6 0 0 *khkkkk *khkkkk 6 8 0 8 l
= A Kk A rK
4 s 2 1 3 Fkkkx 0 1 5 -4 3
5 A 2 0 HAEIAR 2 1 HHEIAR 6 4 1 3 1
6 3 1 2 *hAxK *hkxK 3 4 3 1 2
B
3 B C A *hAhK
7 B FTTES 2 0 0 ERFIS 1 0 2 -2 2
8 C 2 0 HEIAH 2 0 HEIAH 6 4 0 4 1
9 A 0 0 2 *hkxK *hkxK 1 0 2 ) 2
1 A B Kk A rK
10 Kk Kk x 4 2 1 DRI 3 2 5 -3 2
11 A 4 0 loieialel 6 0 leieialel 6 10 0 ]10] 1
12 B 1 2 6 leieialel leieialel 0 1 8 | -7 3
A
= B *hAhK
13 — 3 22 3 1| w1443 ]1]o0
14 B |2 3 2 R 4 3 1 o 416131311
15 1 3 2 3 4 laielolel floiololel 0 2 6 | -4 3
-1 B A B
16 B Fk kKK Fkk kK 3 0 4 3 0 6 7 0 7 2
17 Fk kK k Fkk kK 2 3 1 7 3 0 6 9 1 8 1
18 A 0 3 3 2 loieialel leieialel 0 1 5] -4 3
19 B 0 3 4 3 I leiaialel leieialel 0 0 |11 ]-11| 4
B
= B B *hArK
20 B Kk KAk 2 2 7 RIS TS 1 4 9 -5 3
21 B 2 2 leieilel 0 0 ookl 2 2 2 0 2
22 7 2 0 ek 147251
1 A A
23 A ST Fhkkk 2 0 5 1 6 7 1 6 1
24 *hkhkk *hkhkk 1 2 0 2 0 1 4 -3 4
25 A 0 2 1 loieialel leieilel 3 2 3 ]-1| 2
26 1 5 0 *hAIK *hAxK 3 3 5 ) 3
1
A C
1 23 HAHAN 0 5 1 2 0 1 7 1 -6 3
2 23 A 0 aiaiel 3 0 6 8 0 8 1
3 23 C 1[0 3 o 3l1214]-2]2
A C
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